
More Than, Less Than      Task A Version 1

Question: Finish the picture and answer:

Ben has 7 pencils. 

Ben has 3 more pencils than Tim. 

How many pencils does Tim have?

Kate has 6 hats. 

Zara has 4 fewer hats than Kate. 

How many hats does Zara have?

Zack has 6 t-shirts. 

Zack has 4 fewer t-shirts than Harry. 

How many t-shirts does Harry have?

Ben

Tim

Answer:

Kate

Zara

Answer:

Zack

Harry

Answer:
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Question: Finish the bar model and answer:

Ben has £15. 

Ben has £6 more than Tim. 

How much money does Tim have?

Kate has 16 sweets. 

Zara has 7 fewer sweets than Kate. 

How many sweets does Zara have?

Zack has 16 grapes. 

Zack has 7 fewer grapes Harry. 

How many grapes does Harry have?

Ben

Tim

£15

Kate

Zara

16

Zack

Harry

16
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Question: Answer:

Jack has 5 pens.

Jack has 1 pen less than Kam. 

How many pens do Jack and Kam 

have altogether?

Jen has 9 sweets. 

Amy has 4 fewer sweets than Jen. 

How many sweets do Jen and Amy 

have altogether?

Eve has £9. 

Kim has £4 more than Eve. 

How much money do Eve and Kim 

have altogether?

Jack

Kam

Answer:
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Question: Answer:

Jack has 18 marbles.

Jack has 4 fewer marbles than Kam. 

How many marbles do Jack and 

Kam have altogether?

Jen has 21 paperclips. 

Amy has 6 fewer paperclips than 

Jen. 

How many paperclips do Jen and 

Amy have altogether?

Eve has £21. 

Kim has £6 more than Eve. 

How much money do Eve and Kim 

have altogether?

Jack

Kam

18
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More Than, Less Than        Extend

Question: Answer:

There were 8 children at the park.

There were 2 more girls than boys. 

How many girls were at the park?

In total, Kate and Zara have £14.

Kate has £4 more than Zara. 

How much money does Zara have?
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